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(1) BT B

=

(27.10.1)
WY T 4 [T li3nd=d I I o FH F Rk bt
knf % knd %
il & 1 15.75 100.0 [l = BT 1.30 8.3
— T H 0.23 1.5
H i1 HT 0.84 5.3 — T H 0.22 1.4
— T H 0.08 0.5 = T H 0.23 1.5
- T H 0.09 0.6 m T H 0. 24 1.5
= T H 0.10 0.6 T H 0.16 1.0
m 1T H 0.17 1.1 N~ T H 0.22 1.4
T | 0. 10 0.6 T A R OH 1.30 8.3
AT O H 0.13 0.8 — T H 0.25 1.6
+t T H 0.17 1.1 - T H 0.23 1.5
3] g 0.92 5.8 = T H 0.31 2.0
— T H 0.12 0.8 11° [ I = 0.23 1.5
- T H 0.14 0.9 H T H 0.28 1.8
= T H 0.17 1.1 E3) BT 0.83 5.3
m 1T H 0.13 0.8 — T H 0.18 1.1
H T H 0.19 1.2 - T H 0. 09 0.6
AT O H 0.17 1.1 = T H 0.11 0.7
[ic] IR g 0. 69 4.4 m 1T H 0.11 0.7
— T H 0.07 0.4 o T H 0.20 1.3
- T H 0.14 0.9 N~ T H 0.14 0.9
= T H 0.15 1.0 H R 0.73 4.6
moT H 0.24 1.5 — T H 0.13 0.8
T H 0.09 0.6 - T H 0.15 1.0
% iy 0.60 3.8 = T H 0.14 0.9
— T H 0.34 2.2 m T H 0.10 0.6
- T H 0.13 0.8 H T H 0.13 0.8
= T H 0.13 0.8 AT H 0. 08 0.5
=5 P g 0. 66 4.2 B’ x 1! 0. 66 4.2
— T A 0.19 1.2 — T H 0.11 0.7
- T H 0.24 1.5 - T H 0.12 0.8
= T H 0.23 1.5 = T H 0.16 1.0
it IR g 0.35 2.2 m 1T H 0. 09 0.6
— T H 0.14 0.9 H T H 0.08 0.5
- T H 0.11 0.7 N~ T H 0. 10 0.6
= T H 0.10 0.6
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(1) BT T BlmfE (D3%)

HT T 4 [T li3nd=d BT T 4 [T F Rk bt
knf % knd %
123 = #T 0. 82 5.2 = = ity 0.65 4.1
— T A 0. 14 0.9 — T H 0.15 1.0
- T A" 0. 06 0.4 - T H 0. 09 0.6
= T H 0.14 0.9 = T H 0.13 0.8
m 1T H 0.11 0.7 m T H 0. 08 0.5
L T H 0.18 1.1 T H 0.09 0.6
N~ T H 0.19 1.2 N~ T H 0.11 0.7
) +* BT 0.75 4.8 v E Y N R 0.64 4.1
— T H 0.18 1.1 — T H 0.13 0.8
- T B 0.15 1.0 - T H 0.13 0.8
= T H 0.08 0.5 = T H 0.22 1.4
m 1T H 0.17 1.1 T A 0.16 1.0
i T H 0. 07 0.4 viEY ANE I 0.32 2.0
N~ T H 0.10 0.6 — T " 0.09 0.6
=n) T 0.67 4.3 — T H 0. 07 0.4
— T H 0.12 0.8 = T H 0. 08 0.5
- T H 0.07 0.4 moT H 0. 08 0.5
= T H 0.11 0.7 *x BT 0.35 2.2
woT B 0.11 0.7 — T H 0.17 1.1
HOT H 0.13 0.8 - T H 0.12 0.8
N~ T H 0.13 0.8 = T H 0. 06 0.4
® g 0. 60 3.8 i iy 0. 67 4.3
— T H 0.10 0.6 — T H 0.07 0.4
- T H 0. 09 0.6 - T H 0.19 1.2
= T H 0.10 0.6 = T H 0. 08 0.5
m 1T H 0.13 0.8 m T H 0.11 0.7
T H 0.08 0.5 T H 0.16 1.0
N T B 0.10 0.6 N~ T H 0. 06 0.4
e g 0.68 4.3 T R = 0.72 4.6
— T H 0.12 0.8 — T H 0.11 0.7
- T B 0.15 1.0 - T B 0.10 0.6
= T H 0.13 0.8 = T H 0.19 1.2
m T H 0.07 0.4 m T H 0.15 1.0
HOT H 0.11 0.7 HOT H 0.17 1.1
N T H 0.10 0.6




(2) Hh H i}
oo\ B % : 20
mooA(nd) | HE AR H (%) mooAE(nd) | M AR H (%)
B is 15, 850, 000 100.0 15, 850, 000 100.0
JE F e oih 7B 5, 306, 898 33.5 5, 306, 028 33.5
i 1,730,715 10.9 1, 468, 350 9.3
JE FR OBl OHhOAE 251, 508 1.6 12, 005 0.1
E R 9,514, 662 60. 0 9,527, 261 60. 1
— & E £ 7,192, 933 45. 4 7,225, 547 45.6
HE £ M 1,543, 888 9.7 1,547, 811 9.8
JE R OBl OHOAH 777, 841 4.9 753, 903 4.8
Ak 114, 017 0.7 29, 889 0.2
JE R OBl OHhOAE 103, 904 0.7 22,515 0.1
JMERE 487, 472 3.1 466, 714 2.9
g #oE A O 145, 354 0.9 145, 305 0.9
ZF D Ath > MEFE HE 171, 607 1.1 161, 590 1.0
JE G OBl OHOAE 170, 511 1.1 159, 819 1.0
Z D 4,003, 134 25.3 4, 357, 786 27.5
JE G OBl OHhOAH 4,003, 134 25.3 4, 357, 786 27.5
E AT, DNEUEE 2N U T ZUEBETADTZD, BEHBA100%IC32 5 0WEERH 5,
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(LTI

(%41, 1)
27 28 29

mooA(d) | MR H (%) mooA(nd) | M AR H (%) mooA(nd) | B AR B (%)
15, 750, 000 100.0 15, 750, 000 100.0 15, 750, 000 100.0
5,253,713 33.4 5,283, 293 33.5 5,302, 628 33.7
1,438, 166 9.1 1,416, 389 9.0 1,373, 104 8.7
21,111 0.1 22,022 0.1 22, 639 0.1
9, 542, 930 60. 6 9,532, 751 60. 5 9, 576, 092 60. 8
7,156, 723 45. 4 7,189, 756 45. 6 7,231, 375 45.9
1,617, 751 10.3 1, 580, 953 10.0 1,573, 041 10.0
768, 456 4.9 762, 042 4.8 771, 676 4.9
29, 777 0.2 29, 491 0.2 29, 299 0.2
22,515 0.1 22,229 0.1 22,229 0.1
460, 499 2.9 428, 247 2.7 421, 331 2.7
145, 305 0.9 146, 820 0.9 146, 820 0.9
152, 191 1.0 147, 549 0.9 138, 601 0.9
163, 003 1.0 133, 878 0.9 135,910 0.9
4,278, 628 27.2 4,343, 122 27.6 4, 350, 174 27.6
4,278, 628 27.2 4,343,122 27.6 4,350, 174 27.6




(3) AR T I P J L 4l T A

(27.5.13)
ka1 HAAONE%) | KIEE (%) | i fE (ha) | R (%)
esei? 1585. 0 100.0

30 50 4.9 0.3

W R 30 60 0.4 0.0
¥ J= 5 A Hh ik 40 80 560. 7 35. 4
50 100 261. 4 16.5

Egﬁéégéafﬁéfi 50 100 6.1 0.4
B 30 100 22.5 1.4
E;%%E%;gizfi 50 150 148. 3 9.4
60 200 203. 7 12.9

B 50 100 3.4 0.2
E%E%EE 50 150 2.1 0.1
60 200 58.0 3.7

T FE M 60 200 61.5 3.9
60 300 2.4 0.2

R A i 60 200 10.6 0.7
e (F JE b g 60 200 68. 4 4.3
80 200 26. 4 1.7

3T [ P 3 i Jak 80 300 42.3 2.7
80 400 2.7 0.2

80 200 0.3 0.0

SR 7 80 400 19.1 1.2
80 500 7.2 0.5

W T % My 60 200 48.6 3.1
60 300 2.1 0.1

T ¥ Mo 60 200 21.9 1.4
T3 55 i g - - - -

D) miElE, BTEE EomETh B,
2) MERKILIT, FEBE I SIMNEE MU FUEREAL TWD72H, Gt 2 L 100%272 57200,
G B TR ES T A AR AR 27aES H 13 A v R R TS AR 55995



